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UGC NET PAPER 2 NOVEMBER 05, 2017 SHIFT 1 SOCIAL WORK QUESTION PAPER

SOCIAL WORK
PAPER - IT

Note : This paper conlains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  The social order is maintained largely by ¢

(1) Division of labour (2) Law
(3)  Socialization (4) State
2. Which is the smallest agency of informal education ?
(1)  Communily (2)  School (3)  Family (4) Religion

3. Which one of the following is not social group 7
(1)  Committee of advocates discussing some 1ssucs
(2)  Exccutive committee of labour union
(3)  Board of management of an Institution
(4) A horserider, cvelist and walking person on the street
4. Which one of the following is not the part of hierarchy of needs described by Abraham
Maslow ?
(1)  Salely needs (2)  Esteem needs  (3)  Cognitive needs (4)  Normative needs
5.  Which one of the [ollowing is nol a part of ethics of advocacy 7
(1)  Act in accordance with user’s, wishes and instructions.
(2)  Act in the best interest of service users.
(3)  Non-recognition of the limils of service users.
(4)  Keep the user properly informed.
6.  When number of samples is more than two but it 1s neither certain nor decided 1in

advance, this type of system often referred as :

(1)  Sequential sampling (2)  Cluster sampling
(3} Judgement sampling (4)  Area sampling
s | 1LY : Fuper

prepp


www.prepp.in

www.prepp.in 'repp

Your Personal Exams Guide

n

HHTS eaTd
U= - 11

fEyr: =9 wyAw ° usrd (50) FE-Tamed™ WA B | USE TV % 21 (2) % B 1 Wt W srfard €

1. Fefafeas 5 9 gem: s g amfss srewg a9 W@ Sl 87

(1) ga=faqeE (2) A (3)  HHESIRIT] (4) T4

2. Tr=feEd | 9 A | STy e s werd B2 S € 7
(1) wIEE (2) foremer (3) WRAT &

3. T=farEd 9 9 A W U G 998 T8l ¢ 7

(1) TS H3al W 941 T F sifueeast =i giafa
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Which one of the following scales used to assess a student’s rank in the class 7

(1)  Ordinal scale  (2) Nominal scale (3} Interval scale  (4) Ratio scale

Learning by imitating others behaviour is called and the researcher best known
for studving this type of learning is

(1)  Obscrvation - Bandura (2)  Sccondary - Pavlov

(3)  Observalional - Watson (4)  Secondary - Skinner

Which of the following 1s/are part(s) of Sustainable Development Goeals 7

(a)  Consumplion (h)  Climate

(c} Crime (d)  Food

Find the answer [rom the code given below :

Code :

(1)  (a) and (b) only (2)  (a), (b) and (d) only
(3} (b) and (d) only (4)  (a), (b), (¢) and {d)

Which one of the following is a feature of Hindu Marriage Act, 1955 7
(1)  Inheritance (2)  Medical Termination of pregnancy

(3}  Divorce (4)  Adoption

Which one of the following does not refer to digital convergence 7
(1)  Information Technology (2)  Consumer electronics

(3)  Telecommunications (4)  Exposure to languages

Which one of the following rights was described by Dr. B.R. Ambedkar as the heart of Indian
Conslitution ?

(1) Right to constitutional remedies (2)  Righl to property

(3)  Right to equality (4)  Right to freedom of religion

Which among the following was distinguished feature concerning religion between Brahmo
Samaj and Arya Samaj ?

(1)  Anti-idolatory

(2)  Anti-ritualism

(3)  Separation of social evil from religion
()

4)  Equal status to all religions

Hea
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Which of the following principle(s) is/are followed in Gandhian Social Action Model 7
(a)  Principle of single stralegy (h)  Principle of dramatization
(c) Principle of dual approach (d) Principle of legitimization

Find the answer from the code given below :

Code :
(1) (&), (b) and (c) only (2) (b}, (¢} and (d) only
(3) (@) and (d) only (4)  (a), (b), (¢) and (d)

Who are debarred [rom recetving foreign contribution under FCRA, 2010 ?
(a)  Employecs of any corporation

(b)  Member of any legislature

(c)  Publisher of anv registered newspaper

(d) Hindu undivided family

Find answer {from the code given below :

Code :
(1) (a) and (b) only (2) (&) and (¢) only
(3} (a), (b) and (c) only (4) (a), (b), (c) and (d)

Which of the duty(ies) has/have been prescribed by Indian Constitution for the Citizens of
India 7

(a) To develop scientific temper

(b)  To preserve rich heritage of our composite culture
(c)  To minimise income inequalilics

(d)  To defend the country

Find the answer from code given below ;

Code :
(1) (a) only (2)  (a) and (b) only
(3)  (a), (b) and (d) only (4)  (a), (b), (c) and {d)

What is the characteristic of modernization 7
(1)  Migration

(2)  Social mobility

(3)  Striving for sell-dependency

1)  Change in social values, objectives and aspirations

H“H H‘ HM 6 Paper-II
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14, TeAferEa § ¥ T/ e fagm,/ fagml &1 meEe amrse a1 9faam § qe 6 73 2 2
(a) T TG = TG (b)  FTEERTHRTI hT TG
(c) TR gl & fagr () ae =1 fagra
A= ToU 70 2 =1 WREdl | 37 S
he ;
(1) F (a), (b) S () (2) FH (b), (c) AR (d)
() FH (@) IR (d) (4 (@), (b), () 3T (d)

15. UREELHARTE 2010 % qid faetargd 7 9 fwg f9e9 ofver urd S | Tkl 791 2 2
(a) Todl f9 = o=l
(by  Terdl o1 faerfeer =1 ¥
(¢) Tl TSiTehd HHTEN T GehT9Ieh
(d) #Afayrs feg JiEr
AT ToU 70 2 1 WREdl | ST i
he ;
(1) ¥ (a) S (b) (2) T (a) R (c)
(3) A (), (b) AN (o) @) (@, (b, (©) FR ()

16. 9Rd o Ha9M 4 9RAE AR & foe HefaiEa 8 9 ®A 3 e Hyifia e €2
(a) STk HrE Toemfad &
(b) TAR THe-Seil Ehld i THg TEL 3 FUeHT &
(c) 3T Gl STHAMAAE <l <gAdH H
(d) <0 =T HE
T TQU 170 2 i WEdl | 37 I
he @
(1) =Had (a) (2) = (a) 4R (b)
(3) A (a), (b) AR (d) (4)  (a), (b), (¢) HR ()

17.  omefeRieRor =t 3 fagmmr § 2
(1)  Hdsld
(2) =TSR ey
(3)  AH-TTHIAT <k Tt Tg™ shi]
(4) WIS Hedl, 35evdl 3R AR | TR
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18. The principle(s) of Social Group Work are :
(a)  Principle of planned group formation
(b)  Principle of continuous individualization
(¢)  Drinciple of resource utilization
(d) Principle of evaluation
Find the answer from the code given below :
Code :
(1) (a), (b) and (c) only (2) (aj, (¢} and (d) only
(3) (&), (b) and (d) only (4) ), (b), (¢) and (d)
19.  ‘Trusteeship Theory' of Trade Union was advocated by
(1)  N.M. Lokhande (2) B.P. Wadia (3) MK Gandhi (4) G.L. Nandha
20.  Under whose Prime Ministership the Second National Labour Commission was
constlituted 7
(1)  Atal Bihari Vajpaveo (2)  Viswanath Pratap Singh
(3)  P.V. Narasimha Rao (4) Rajiv Gandhi
21.  Participant observation is ideally suited for the study of :
(a)  Tribal culture (b)  National culture
(¢)  Ethnographic study (d)  Phenomenon of globalization
Code :
(1) (a), (b) and (c) only (2)  (a) and (c) only
(3) (&) and (d) only (4) (b} and (¢} only
22.  Robert Redfield has mentioned which of the following qualities of little community ?
(a)  Distincltiveness (b)  Small Size
(c)  Homogeneity of inhabitants (d)  Dependence on other community
Find answer from the code given below ;
Code :
(1) (a) and (d) only (2)  (a), (b) and (c) only
(3} (a), (¢) and (d) only (4)  (a), (b), (c) and (d)
s || TN 8 Fuper
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Ferfafea o 9 i wrAilse 9qg F1H % [Hera 2

a)  ANSTIEE ¥HE Ted & fagra

(
(by waa FAtFaRTT fagm
(

¢) HEEA IwATEa fagr

(d) HoHHA HgT

i fow T 2 i werEE @ S e

he ;
(1)  =ad (a), (b) X (c) (2)  WHEA (a), () AR (d)
(3) A (a), (b) T (d) (4)  (a), (b), (¢) ¥ (d)

1

qsigl §9 = g’ A’ 1 aTed fRdeh g i s o 2

(1) wAug @Es  (2) L. are (3) UHAR. T (4) .U 7g

for el TETE el o SR SHL U S0 STAN o] 737 fohar 71 o1 7

(1) 1=a fagdl (2) Tavay gam foz

(3) LA T T (4)  TrSie T

frefafEa o ¥ foreeh oTeg9q & fau YRieR sTadied Hed SUga ¢ ?

(a) SIS HERI (b) TS HERl

(¢) TS A (d) v Tigy
hd

(1) 99 (a), (b) R () (2) FIA (a) I (Q)
(3) A (a) SR (d) (4) I () S ()
a2 YEwiee W e UeE i frafafag § 9 faa o/ foemanstl @1 oo faar g2
(a) Tofemea (b) B HATRR

(¢) THenfadi =l wHETa (d) &= |9geE W A9
i<l 4T 770 32 i WEEE ¥ 3w e

hd

(1) o (a) $R (d) (2) A (a), (b) I ()
(3) A (a), () I (d) (4) (@), (b), (c) 3R (d)
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23.  Which among the following is/are “ascribed status’ ?

(a) Profession (b) Caste

(c) Gender (d)  Religion

Code :

(1)  (a) and (b) only (2)  (b) and (c) only
(3) (b}, (¢) and (d) only (4) (a) and (c) only

24. Which of the following is/are method(s) of getling people’s participation in a
community ?
(a) Transcct walk
(b)  Non-formal interview
(c)  Social and resource mapping,
Find answer [rom code given below :
Code :
(1) (a), (b) and (c) (2} (a) only (3)  (b) only (4}  (a) and (b) only

25. In Karl Pearson’s coctficient of correlation the value of v nearer to +1 or —1 indicates :
(a)  No association between two variables
(b)  Posttive correlation only
(c)  Negative correlation only
(d) High degree of positive or negative correlation

Choose the answer from the code given below :

Code :
(1) (a) only (2)  (a), (b) and (¢) only
(3)  (d) only (4)  (b), (¢) and (d) only

26.  Which of the following i1s/are part of the Saul Alinsky’s Model of Soctal Action ?
(a)  Atltacking the person who heads the establishment
(b)  Inducing anger and hate
(c)  Destroyving the indrvidual who holds power

Find answer from the code given below :

Code :
(1) (a) only (2)  (a) and (b) only
(3)  {(a), (b) and (c) (4)  (b) only
T —
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23. TA=fefEd § o forsent/ Tohehl * sAqor feorfdq’ g 2
(a) ZEEE (UY) by  wfa
(c) Tefm (dy  &H
he @
(1)  =had (a) 3R (b) (2) = (b) R (c)
(3) AT (b), (¢) A (d) (4)  FAA (a) S (o)
24, TAAfefEd o § 520 U 9 | A 1 GRISRT 9T 3 1 95,/ T5iaa § 7
(a) IR =k (HgF 9H)
(b) SR HETeERR
(c)  WTHIRSTR qe SHEA Fiat=son (HigT)
A few 0 e | 5 S g
he ;
D) (@), 0) I() (2) Fd (a) (3) = (b) (4) I (a) $R (b)
25. kel Toaes o wgdEay o Ui § +1 s19a1 —1 % ke v %1 Hgc 3ima i § TR
(a) @ =R % A9 hT HAY el ¢ |
() HEe FEHNEH TEHe
(c) hdel TRNHS HeHaY
(d) 3iferen T2Ul <A1 HRNIeAe: 319 TR HE-Had
= T U e FT "gEEd § ST e
E
1) FI9 () (2) e ( ), (b) ¥R (c)
(3) A (d) (4)  FE (b), () N (d)
26. fa=fafea & 9 = 9f LJF&[%“E = Fraifsres faar wfaam (Arsd) <1 9 3 2
(a)  OTdSEH =Rl Agcdl e T8 =k qU ARk Bl]
(b) TEH SR g =AY
(c) wif=a 99 =Afad =1 F@is w
A= ToU 770 2 &1 HW2Edl | 33 SIS0
he :
(1) ket (a) (2) A (a) SR (b)
) ) ¥ (c) (4)  FE (b)
ot HHH\ HWH (i o
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Assertion (A) : Social stratification is an arrangement of social groups into hierarchy of
position.

Reason (R) : Social stratification is unequal with regards to powers, property, social
evaluation and psvchic gralification.

In the context of the two statements, which one of the following is correct ?
Code
Both (A) and (R) are not correct.

(1)

(2)  (A) 1s corract, but (R) is not the correct explanation of (A).

(3)  Both (A) and (R) are correct and (R) is the correct explanation of (A).
(

4)  Both (A) and (R) are correct and (R) is not correct explanation of (A).

Assertion (A) : Iransnational perspective is needed for effective combatting of social
problems of modern world.

Reason (R) : Poverty and hunger problems need global joint actions.
In the context of two statements, which one of the following 1s correct ?
Code :

(A) is correct but (R) is nol correct.

(A) 15 not correct but (R) is correct.

Both (A) and (R) are not correct.

Both {A) and (R) are correct and (R) 1s the correct explanation of (A).

Assertion (A) 1 After the 1928 world conference of social workers held in Paris, an
international cooperation of national associations was [ormed that later
become the International Federation of Social Work.

Reason (R) : The purpose of International Federation of Social Work is to achieve a Socially
Just World through professional social work.

In the context of the two statements, which one of the following is correct ?
Code :

(1) (A) and (R) are correct and (R) is the correct explanation of (A).

(2)  (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) {A) is correct and (R) is not correct.
(

—L 15 not correct :md 1*; correct.

W H‘ HM L Paper-II
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ATURYT (A) : TSR TR0 ATHIMSTh T i JSTaHH ohi TFafd § I =l SHaw 2 |

THICOT (R) : iRl (SATHaRRT), |afsl, HHTTSh Hodishd qe AR Hqi o He | JHifees
ST SHAH 7

29 S el o Hed § f=fafiad § 9 oA 91 wy" WE § 7

E

(1) (A) 3R (R) ST T 2

(2)  (A) W& E, T (R), (A) i Wl =A&AT1 = ¢ |

(3)  (A) 3R (R) wwpdm[k)(-)aﬁrﬂaﬁw%l
(4} (A) 3R (R) SHI W8T © a1 (R), (A) =1 Tl =A% e ¢ |

TR (A) : dﬂ?WWWWWdﬂWQWWHWWQWWW
gitem T i sTevgsdd ©

THICT (R) : TR A1 g Sl FHEE] o (oT0 SyFeh S hRAT ohi SEgdehl ¢ |

79 e oAl & Hed |, faetafEd § 9 i\ 5 e 98 © ?

He

(1) (A) TR E 9 (R) T 2|

(2)  (A) o €, TG (R) I T

(3) (A)3 { R) &I Terd % |

(4)  (A) 3 (R) aF1 HEl € 3T (R), (A) I HEl AT © |

IfUererT (A) : R\ o 1928 © ace F5hH 3% FVA dehd & STASH & T9ER S2vHa
] -3TIIM 3H S9Fd THTHUIE 261 T34 (&g T3 915 U 98 229
RelyT 3R Ty g5 =9 74T |

ShRIT (R) : EZAYHA e Ak WA oeh okl Jecvd AEHIUS FHIS 6 o Hegq 4
oraTstes =T O ST fava T T S B

79 g1 Syl o dey § faefafea o, 9 o9 o wew "l w2

R

(1) (A) 81 )W%ﬁm (R), (A) T HGI A=A T |

(2) (A) 3R W 8 g (R), (A) T | =] 75l T |
(3)  (A) T T #R (R) TId € |

(4)  (A) e § R (R) ¥R 2|

oo [[FIHIALTAN
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30.  Assertion (A) : The emphasis on "person-in-situation’ is to understand and help the
individual client better.
Reason (R) : The person in situation configuration is subjective.
In the context of the two statements, which one of the following is correct ?
Code :
(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) arc truc but (R} 1s not the correct explanation of (A).
(3} (A) is true, but (R) is false.
(4)  (A) is [alse, but (R) is true,
31.  Assertion (A) @ Social action and social legislation are complimentary to each other.
Reason (R) : Social action often highlights the need for new laws.
In the context of the two statements, which one of the following is correct ?
Code :
(1)  Both {A) and (R) are not correct,
(2)  Both (A) and (R) are correct and (R) is the correct explanation of (A).
(3)  Both (A) and (R) arc correct but (R) 1s not the correct explanation of (A).
(4} (A) is correct but {(R) is not correct.
32.  Assertion (A) : Social dysfunctions have polentialities to affect social functioning adversely.
Reason (R) : Dysfunction occurs in the interaction between different systems or social
ills.
In context of these two statements, which one of the following is correct ?
Code :
(1)  Both (A) and (R) are nol correct
(2)  Both (A) and (R) are correct and (R) is the correct explanation of (A)
(3)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(4)  (A) is correct bul (R} is not correct
33. Assertion (A) : Developmental social welfare 1s a macro-level conception.
Reason (R) : Developmental social welfare attempts institutional change.
In the context of these two statements, which one of the following is correct ?
Code :
(1}  (A) is correct but {R) is not correct.
(2)  Both (A) and (R) are correct.
(3)  (A) 15 not correct but (R) 1s correct.
(4}  Both (A) and (R) are not correct.
T T Faper
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AR (A) @ “TEA-ZA-THEUIE" W Fel < &1 HATHUTg Uk "l <kl gl diich W "HFA 99
3Heh! WEHAI HAT © |
THIUT (R) : T -3 faguym fa=m e 2 21

= 5 Syl & Hgd °, faefafaa 4 9 =0 91w wd © 7

he @

(1) (A) 3R (R) 31 T2 nﬁan( ), (A) =T 9 AT §

(2) (A) ¥R (R) AT T2 9] (R), (A) T T SATEAT 6 2

(3) (A) T T 9% (R) T ¥

(4)  (A) o € T (R) HEl T

AT (A) ¢ HHISH foha1 qu1 WIS fay™ Th-g8 o T ¢ |
HITAT (R) ¢ qraTheteR fohaNl ST 0 A 1 STEvAHal o1 IR ! §
7 21 el o Hed |, famfafma 8§ 9 :H-91 Fed e § ?

hd ;

(1) (A) SR (R) 3 T4 € |

(2)  (A) 3R R)?ﬁmﬂmm)( ) i TG AT T |

(3)  (A) ¥R (R) ) e TRl %, T (R), (A) ! T RS TE F |

(4) (A)HElE g 93 (R) o0 T |

IMURT (A) :  FrETieeR adfsRaeT &1 s fhareaesd) W ufasa Tara Ued Wi ST el

2l

SRIUT (R) : fafire srawanatl s1eren ATt sEal o =9 TREde fHa 9 stafman 3eae gl
:

7 5 el & ded |, Fefafea 5 9 o0 W wea wa 7

he

(1) (A) 3R (R) ST TTerd € |

(2) (A) F(R )E:Fﬁﬂ?? g 3R (R), (A) I T2l 2R 2 |

(3)  (A) SR (R) 1 921 &, 954 (R), (A) T g1 A 751 3 |

(4) (A) TRl € T (R)Wfﬂ

ATURYT (A) :  TIRTHCHE TS FHodm] Ueh J8d-Sad STaHRIT ¢ |

ShHTUT (R) ferhTHTeT = THTS oAl HEATTd Sgard o o1 TAH Fd © |

7 S FeAl & Hed H, frAfaiEa § 9 S W FYE e § 7

he ;

(1) (A)ﬂﬁ%m(u)ﬂaﬁ%l (2)  (A) SR (R) SF 9§ |

(3) ) T B, U, ( (4)  (A) SR (R) B 749 & |
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34. Assertion (A) : Uneven accumulation of life sustaining energies can alter the equilibrium

slale.
Reason (R) : Internal disorders take a person to a non-equilibrium state.
In the context of two statements, which one of the following is correct ?

Code :

(1) {A) is correct but (R) 1s not correct.
(2)  Both (A) and (R) are incorrect.

(3)  (A) 15 not correct but (R) 1s correct.
(4)  Both (A) and (R) are correct,

d
|

Choose the correct sequence of Constitutional Amendment Acts on the following subjects
the chronological order.

(1)  Right to Property, Preamble of the Constitution, Nagarpalica Act, Panchavati Raj Act
(2)  Preamble of the Constitution, Right to Property, Panchavati Raj Act, Nagarpalica Act
(3)  Right to Property, Preamble of the Constitution, Panchavati Raj Act, Nagarpalica Act
(4)  TPanchayati Raj Act, Right to Property, Nagarpalica Act, Preamble of the Constitution

36. Choose the correct sequence of the following in social case work practice :

(1}  Person - Problem - Process - Place
(2)  Place - Person - Problem - Process
(3)  Person - Problem - Place - Process
(4)  Problem - Person - Place - Process

37. Identify the correct chronological order according to their dates of celebration in a year :
(1)  Women's Day, Youth Day, International Literacy Day, AIDS Day

(2)  Youth Day, Women’s Day, International Literacy Day, AIDS Day

(3)  International Literacy Day, Youth Day, Women's Day, AIDS Day

(4)  AIDS Day, International Literacy Day, Women’s Day, Youth Day

38. Choose the correct sequence of the following enactment in chronological order :

(a) Apprentices Act (b)  Guardian and Wards Act
(c) Reformatory Schools Act (d)  Children Act

Code :

(1) (b), (0), (@), (d) (2) (), (b), (¢), (d)

3) (), @), ), © @ () (@ () @

39. Put following stages given by Sigmand I'reud in correct order :
(1)  Oral, Phallic, Anal, Latency, Genital

(2)  Oral, Latency, Phallic, Anal, Genital

(3)  Oral, Anal, Phallic, Latency, Genital

(4)  Oral, Genital, Phallic, Latency, Anal

40. lIdentify the correct order in following stages of group development given by Klein :
(1)  Orientation, Negotiation, Resistance, Intimacy, Termination

(2)  Orientation, Intimacy, Resistance, Negotiation, Termination
(3)  Orienfation, Resistance, Negotiation, Intimacy, Termination
(4)  Orientation, Negotiation, Intimacy, Resislance, Termination

anor [N
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34, AMURAT (A) :  SiEA TalE & o0 Aavae Soli#ll ol SHHM G9d- Haor i feerfd | i o

T |
T (R) : AAfafies fosr =Afaa o Hgem =t feafq & & T 9 € |
TSI 2 HeAl o Hed H, efafEg § @ 34 9 wE § ?
he :
(1) (A) F&l g, fog (R) Tord €1 (2)  (A) 3R (R) gH T B
(3) (A) e § TG (R) 981 2 (4)  (A) 3R (R) T ¥ET & |

35,  TA=AferiEd fowl gael giae™ 9ene H-adi =) 950 &9 § oy
(1) =ufd = AR, Fias =i gare, e stiafa=m, q=mda as aarte
(2 EiIHM 1 TETEEr, Faid o1 SARR, TeEdr TS sAfuiEy, TRgrtershn sttty
(3) WO 1 ATYRN, WA ki TedE], TEEdl TS A, TR SAfEad
(4) o= U @Aty g T i, FIdrerenT syt ieu s g

36. wure Sufadae i ugfo o fafafaa <@g &9 5 wmeu .

(1) =T - GHE - Ylehdl — FIH (2) TAH - Al - HHHT - Yishd]
(3) =ATE - HAE - T - Uik (4) HEE - = - T - Uik

37. oY ¥ HAE 5 9el AT iga /o] &l Sk 9914 S oh el ohH H caaieerd shifaly .
(1y Hfgen feam, a0 feom, siaxiftea werar faam, v2d ey
( gell Toaw, Afgell foom, Sy Hend ooy, U2d feey
(3) AT WeRdl feed, ga feey, Afgar fogw, 124 foad
(4) UTH feam, sTaungr W fzea, Afger foad, Zan ey

38. Fefafaa sifuf=aal =1 e Haran SFatg wian

(a) Torg] wAfufey (woi=fag ua) (b) TS TUE oS Usk
(c) T who™ TR (d) THcgd uw
e |
(1) (b, (¢}, (&), (d) (2)  (a), (b), (), (d)
(3)  (d), (a), (b), (¢] (4) (L): (d), (b), (a)
39. Tomdae we gr feu o fqefefaa = 1 wE %9 § =R
(1) e, Wi, TAd, <28, Si2d  (2)  3IRd, ofdl, Tides, TAd, S
(3)  #NE, UAA, BidH, Slodl, SiHed  (4)  HRE, SiHed, Wi, Tedl, Ui

40. AT g7 fau U HHg ok ToeRtd o FAfeiEd =on sl W&l e § oy
(1)  vare, sa-<rd, Ffare, satra, wua

(2)  TeEH, ST, Ui, Sd-=d, QEi

(3)  TEEE, gfaUy, Fa-=d, Aard), gai

(4) T, STA-wid, AT, gy, Sai

ooy
HH i W1
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471.  Which one of the following pairs is correctly matched 7

(1)
(2)
(3)
()

Skinner =
Anna Freud =
Lrich Fromun -

Elizabeth Hurlock -

Operant Learning Theory

The unconscious Mind

Hierarchy of needs

FEgo Psvchology

42.  Which one of the following pairs 1s correctly matched ?

(1)

Description of experiences
and obscrvations

Making generalizations and

Theory building

Finding solution of immediate

problem
Conductine observalions [or
(e

discovering facts

Empirical Research

Applied Research

Fundamental Research

Qualitalive Research

43.  Which one of the folh.‘n-x-’1'1'1g pairs 1s not correctl y matched 7

44, Match List-I and List-II and choose the

oo

Fair distribution of resources
Equal rights for all
Fostering of social trust

Availability of services in
discriminatory manner

List-I
(Proponents)

Toscland and Rivas

Balgopal

Karl Marx

Erich Fromm

(@) () () (d)
(i) (v) (1) (1)
(iv) () (1) (i)
(i) (i)  (v)  (iii)

(i) @ ()

(iv)
(R

(i1)
(i)
(1v)

I

I

bquity
Equality
Cohesion

Accessibility

prepp
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correct answer from the code given below :
List-I1I

(Concepts)

Allogenic Conflict

Emotional Bond

Escape from Freedom

Economic Determinism

18
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41. Tr=fafEd | | M 9 g guted ¢ 7

(1) fe=rm - TehaTgEd A g
(2) TA HEE - FEeaT Al

(3) U B - HEEEHAR 1 TEHA
(4)  TCTSTY gLl S EREIEFIE

42, frefafed 8 9 M 9 g8 Gafed ¢ ?

(1) SYEl 91 TRl Skl AU R EE Lo
(2) WU HE a9 (g g e - SIEgiis Y
(3) TERITCTeR FHEAT B FHIHT TEe] S I ERIE
(4) AL T G o AU srEere - T[UITeHER ¥TY
]
43, T=fafEd H 9 &E 9 g8 gHied T8l ¢ 7
(1) EEEAl R 3 feaeo - "
(2) |4l skl HH AR - HHMEA
(3)  |HISe favare <kl =gl - gt
(4) OO qiieh © Gastl il SUCHAl - YR
44, FE - 1 G - 11 ok 912 AT S0 3R 4 {60 7T 32 1 9N #d g0 Hel 3o el
et - 1 =i - 11
( TEITeEh ) ( ST )
O EEERLER SIS (i)  TUelSIeh Ho
(b)  SITENITe (il)  HEATHE SHA
() =Tl HFH (it) TG | G HET]
(d) T % (iv) el fagiomEr
he
(a)  (b) (c) (d)
(1) () (v) (1) (1)
(2) () () (@) (1
(3) (i) () (v) (i)
&) O Gy () (iv)
oo | ATRRALAEAN 1
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45.  Which onc of the following pairs is not correctly matched ?

(1)  Rules governing the behaviour 5 Norms
of group members

(2)  The potency of goals and - Valance
objects in the life space of the group

(3)  The ability of group members to - Cohesion
influence one-another

(4)  The degree of agreement regarding goals - Consensus
and group phenomenon

Instructions :  Read the passage below and answer the queslions 46 - 50 thal follow based
on your understanding of passage.

It is right time for India to create a Uniform Civil Code. While we are governed by the same
criminal and civil laws, in matters of marriage, inheritance, succession, divorce and adoption, we
live largely by the personal laws of our religion. Fach community has its own distinctive practices,
but they are all unfair to women in their different ways. W hile Hindu, Christian and Parsi laws
have been codified and amended over time, many aspects of Muslim personal law remain
unlegislated, and left to the vagaries of Islamic jurisprudence and practice. Hindu personal law
was codilied into four acts in the 1950s, and amended over the years. While it is still not fully
gender-just, 1t was certainly a radical leap for women's rights. Chnf;han personal law, alrecady
codified, has been reformed by Parliament and the courts, after much community mobilisation.
Muslim personal law remains uncodilied in many aspects, though the courls have steadily expanded
rights for Muslim women. While it is easy to make rhetorical arguments about gender equality
and securlarism, it 1s much harder to apply these principles across the uneven terrain of inheritance
and propoerty, marriage and divorce, adoption and guardianship. Different communities can have
far-apart worldviews on the same subject -a Hindu marriage is a sacrament, a Muslim marriage is
a civil contract with spelt-out obligations - so a common code would have to be acceptable to all. Tt
should aim not to deprive any woman of the benefits that she currently has, under anyv personal
law. The Unilorm Civil Code 1s not just a matter of gender justice; it is also a question of how a
nation accommodates its own diversity. In India, freedom of religion exists with other rights like
equality and non-discrimination. We need lo imagine a common civil code for the sake of more
fairness in our families, our religious communities, and our nation.  All women, across faiths, arce
owed the rights of equal citizenship.

46. The Unitorm Civil Code 1s also related to -
(1)  Cultural diversity
(2)  Gender justice
(3)  Cultural diversity and gender justice both
(

4)  Family inte gration

47. The personal laws of the community is still remain uncodified.
1} Hindu (2)  Muslim (3} Christianity (4)  Muslim and Sikhs

(1)
onor7 [ [ 2
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45. THHAaREgd ¥ 9 :HE-91 78 gafed 7@l ¢ 7

(1) HHE o HoHl <h =AoRN i JNad o §aei | - grcs

(2) T % Siiad T H Tl a0 IS 1 Felerd] - A &
(3) T - UL I UIfad A F TS o USSl wl gudar - ddiE

(4) e g e wafa % deiy § wenfa =t fan - wEgmfd

Feer: TrefeiiEd U o1 37999 SiTa0 a9r U o 370 H Td U9l (46 - 50) SRT 791 WAt
TR O =Y S |

T &1 77§ foh IRT IAE AR iedl 9919 | A2y g6 Uk g YR o sTaafys S fafaa sl
SR 9T B €, 9 oae, STUiHehR aalle 991 71 o & JTHel H J&ad: g9 319 94 & 95 hA|
I AT | T TS H1 9T fafere gord €, ot o |t SAe- 31T ®9 § Afeenst o W 3= H
g1 T e, TR, UNHl FHAl &) Yieaes (6 S 9 © iR 98F ok W 39 HIEE ol § 9k T,
T 9HAd & o ogd H YgeS o o1 H A A8l S T § SR 37 TS whi SEATH] IR # 3an
- =gra = "N BT fea1 Ty ¥ fog 9HAe &l &1 1950 o <¥eh H =R sttufaemi o dfgaras e may of
SR Toeel ol H g6H HINeE o1 8 96 & | F2iU 48 319 ol Wi - T8 €I o a4 9i ave =gyl 9al 2, T
oft f9fv=m =9 ¥ =g ofga sifu=rd =1 fovn o @@ FeA T | S9E 96a o =1 O Ugal Wicaes a1 51 ==
¢ 3R WS ] SHEal o 9G HHe A e | 36y §eeH [y € 1 9gd W 9ee sl @i gie 9 giem
T T sTHgdTeg &, Tielich A o Hi- o giem afgansti % wfvsl ° afg =1 %1 =t o -
T THFAT GYT SHATUSTA o 9N B Yearesiyyl a5 o1 W o, W SRR Ud "uf, faamg ud aer,
g T S |0 (MEIAIEY) S STHHEATgY Haal & JHel § g gl hl @] &A1 9gd Hisd ¢ | T
&1 Tawar vz fafvesr szl =1 foarsa faudia T 31 ¥edl § - fow faars U 9%aR 361 3§, Jiem f9aw o
rafae sTqaY 2 &, ey Srfaei =61 Seoid 211 ¢ - 37d: Ueh YAM Hieal |94l o1 T 21 9y | 6]
35evA gA1 =ifeu f g oft afeen fadi o vdaa &f = aga o1ue adas endi 9 afad 9 811 9a3m A
Afedl hael i - UEW HaH! =¥ %] A9 T8l & 98 Uk v 07 © T ue <v1 forw w9 st fafayan =
ST Al ® | ad |, anftier TEds o - geHal A7 et S o= s1fee ff €1 89 #1949,
31O wnfer |HEET a9 50N U o iR 1t e = fau v wom A wfegd &1 seaar & &1
AETIRHT €| T4 g6 &1 T ARG o TAE ARG 1 IR 9 =1e |

46. TOE A Gigdr &1 "9y fetafea § o fmag &t 22
(1)  |TERiden Taleea

(2)  EI - 758 =7
(3) Wipfaew fafagal a9 Si-1ey = <M
(4) IER Ui
a7, qHE & gHIA @ o9 O yEfEdeg € |
oo [ LANNINN .
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48.

49,

50.

Hindu marriage laws are still not :
(1) Fully governed by the community
(2)  Tully grant justice o women

3)  Fully accepted by pricsts
the aged
Hindu marriage 1s a sacrament unity which means it 1s recognised as :

(1) One of the sanskar (2) A contract as divorce is possible

(3) A part of uniform civil code (4) A right of equal citizenship
The most appropriate title [or the above paragraph mav be :
(1) Unitorm Civil Code (2)  Need for Uniform Civil Code

(3)  Gender Justice and Civil Code (4)  Tuture of Civil Code

Lo

anor [[{HILHTAN 8
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Fully in favour of equal opportunity to all members of family such as women, children,
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% Aigenall, ==, I v1d URaR & T4l TewIl o] FHH HTH Y&H & 6 94 1 §

L) L) L) .

e fomme 1 7fas e 2, e e e fr @ Pefefn A4 frn s A agan T T R 2

U STEY i Tk G99 ¢

A ATl &1 Afgar

guE A 9iedl =i avasd

rTiias giear =1 uyfaw=

48. T&= f9ame A = o 9 o= o1 o 76 2 7
(I) -u.‘i' : ET:U 1\ P‘: : : %
(2) Tfgensl = T I A T §
(3)  HSRAT FRI qUiE; €& ©
(4)
49,
(1) Tsh HERR (2)
(3)  HHM AN |igdl 1 {9 (4)
50,  IUUST U T HEY IUFET ISR 71 BT 2
(1)  SHE 7 Hied] (2)
(3) I - Y A I AT e (4)
-olo-
oo [ ATRRALACAN
|
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